The Law of Total Tricks (Part I)
Finally, we are going to see why so many of the treatments I’ve been recommending are so valuable, and more importantly, how we are going to use that information to make the correct decisions again and again in situations where even experts often get it wrong.
1978 – World Pair Olympiad. Brazilian Champion, Marcello Branco with nobody vulnerable held: 



♠ AKQ86

♥ T763

♦ J8

♣ AT
This was the auction:


Branco

Opponent

Partner

Opponent



   1S


     2H


    2S


      4H

    ??
Think about what you would do.  Is there an obvious answer?
We’ll come back to this hand at another time. Before you can be expected to make the right decisions, you need to have an understanding of what the LAW is and how the LAW works. Consider this hand:

North






♠ K Q J 2





♥ K Q 3





♦ 8 5 4





♣ 8 6 2


West





East


♠ 8 5





♠ 6 4 3


♥ 8 6 5





♥ 9 7 4 2


♦ K Q 2




♦ J T 6


♣ A J T 4 3




♣ K Q 7





South






♠ A T 9 7








♥ A J T






♦ A 9 7 3





♣ 9 5

This hand will probably be played by North-South in spades. They will take 9 tricks, losing 2 tricks in each minor. Consider for just a moment that East-West is allowed to play the hand in clubs. They will most likely take 7 tricks, losing 2 spades, 3 hearts, and a diamond. Note that the total number of tricks that can be taken by both sides, assuming both teams play in their best suit is 16 (9 by NS, 7 by EW). Is it simply a coincidence that the total number or spades held by NS added to the total number of clubs held by EW is also 16? It turns out that the surprising answer to this question is NO!
The Law of Total Tricks

The total number of tricks available on a deal is equal to the total number of trumps. 
The total number of tricks means the combined total available to both sides if both sides were allowed to play the hand in their best suit. The total number of trumps means the combined total of trumps held by both sides in their best fit. For example, if North-South has a 10 card fit, and East-West has a 9 card fit, then there are 19 total tricks available. The LAW does not suggest which side can take more tricks. It only predicts how many total tricks can be won. Therefore, in the above example, if NS can only take nine tricks in their best suit, the LAW predicts that EW can make ten tricks in theirs. If NS can make slam in their best suit (12 tricks) then EW could only make seven tricks in theirs. The number 19 remains constant.  The LAW tends to break down at high levels or when there are big 2-suited fits, but it is amazingly accurate for most low level decisions.
North






♠ K J 5





♥ A Q T 8





♦ Q J T





♣ K 4 2


West





East


♠ 8 7 6





♠ A Q 3 2


♥ 5 4 3





♥ K 6


♦ 9 8 3





♦ K 4 2


♣ A Q T 6




♣ J 9 8 7





South






♠ T 9 4








♥ J 9 7 2






♦ A 7 6 5





♣ 5 3

In this example, NS has 8 hearts and EW has 8 clubs. The LAW suggests there should be 16 total tricks. In Hearts, NS can be expected to win 9 tricks, losing 2 spades, 1 heart, and 1 club. In clubs EW will lose 3 diamonds and 1 trick in every other suit, for a total of 7.   9 + 7 = 16. Perhaps it seems that all those winning and losing finesses were set up to make the example fit. Let’s exchange the EW cards:

North






♠ K J 5





♥ A Q T 8





♦ Q J T





♣ K 4 2


West





East


♠ A Q 3 2




♠ 8 7 6


♥ K 6





♥ 5 4 3


♦ K 4 2





♦ 9 8 3



♣ J 9 8 7




♣ A Q T 6





South






♠ T 9 4








♥ J 9 7 2






♦ A 7 6 5





♣ 5 3

NS can still take 9 tricks in hearts, this time losing 1 spade, 1 diamond, and 2 clubs. EW will still take 7 tricks in clubs, losing 2 spades, 2 hearts, and two diamonds. There are still 16 total tricks. Switching only the ♥K and ♥3: 

North






♠ K J 5





♥ A Q T 8





♦ Q J T





♣ K 4 2


West





East


♠ A Q 3 2




♠ 8 7 6


♥ 6 3





♥ K 5 4


♦ K 4 2





♦ 9 8 3



♣ J 9 8 7




♣ A Q T 6





South






♠ T 9 4








♥ J 9 7 2






♦ A 7 6 5





♣ 5 3
Now NS can only take 8 tricks in hearts, losing 2 clubs, and 1 trick in the other 3 suits. The trick total remains unchanged however, as now EW can take 8 tricks in clubs. Examinations of these and countless thousands of 

hands lead to the following 2 observations concerning total trick count:
1.  Location of high cards. Finesses that are onside for one pair will be offside for the other. Total Trick Count 

     remains constant.

2.  Distribution. Bad breaks for one side are good breaks for the other. Total Trick Count remains constant.

North






♠ 5 4 3





♥ 8 7 2





♦ A Q 7





♣ K T 9 7


West





East


♠ Q T 9 2




♠ A K J


♥ A Q J T 6




♥ K 9 5 3


♦ 5 4





♦ T 8 6 3


♣ 6 5





♣ 3 2





South






♠ 8 7 6








♥ 4






♦ K J 9 2





♣ A Q J 8 4
NS have nine clubs and EW have nine hearts. The expected trick total is 18. It turns out NS can take 9 tricks in clubs (losing 3 spades and a heart) and EW can take 9 tricks in hearts (losing 2 diamonds and 2 clubs). Interchanging the ♥A from West with the ♥4 from South and the trick total is unaffected. Now NS could take Ten tricks, (losing only 3 spades), and EW could take only Eight tricks, losing the same 4 tricks as before, plus the Ace of Hearts. The addition becomes 10 + 8 instead of 9 + 9, but the total of 18 remains the same. 
North






♠ J T 8 2





♥ J T 7 4





♦ 5 4





♣ A K 5


West





East


♠ 7 5 3





♠ A 4


♥ 8 3





♥ A 9 6 2


♦ K Q J T 3 2




♦ A 8 7



♣ 9 4





♣ J 8 7 3





South






♠ K Q 9 6







♥ K Q 5






♦ 9 6





♣ Q T 6 2

NS have 8 spades, EW have 9 diamonds. Is the trick total the expected 17? In diamonds, EW must lose two tricks in clubs, along with 1 trick in each major. They can make 9 tricks. In spades, EW can lead ♥A and another. Gaining the lead with the ♠A later, East can give his partner a heart ruff. That, along with 2 diamond losers will hold NS to 8 tricks. Notice that the 4-2 division was needed to make the LAW work; or was it?

Suppose we exchange the ♥2 for the ♠3. Now the EW cards are divided 3-3 instead of 4-2. Consequently, NS can now take nine tricks in spades, since EW cannot obtain a heart ruff. But wait. What has this change in distribution done to EW? Now EW must lose two heart tricks along with 2 clubs and a spade.
The even heart split results in an additional trick for NS, but one less trick for EW. The Trick Total is still 17, this time it’s nine for NS and 8 for EW.  This reinforces the earlier observation. 

1.  Location of high cards. Finesses that are onside for one pair will be offside for the other. Total Trick Count 

     remains constant.

2.  Distribution. Bad breaks for one side are good breaks for the other. Total Trick Count remains constant.
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